B
= =
o
4.24=0,2
5.8+0.18 , B+0.2 , | 162
7 | N
t IR
HXH
o )
- - = m g3
iy
I c = :
n
1 | 54018 vvm|& e b = @
: A£0.P g <
6,75%0.2 _ - 4
m
FAER
1. PR a4 . shét. ka4, #%H4F
| B B E B B B (| RNE; HHBRELBLE., BE. £FERE.
1 I LEMAWFEL 2~2. Omm,
H| O O o oo Ll
) R | 3. 4R4T AR A W B Z A KTF12N,
% B 4, Y2 ~SAITRE R B —4T,
| 4t 8 6 ~12A3TK A %5 34 5 241
N S.MBEMEFLRE T R ER TR,
BABES
RmEY | FatE R
XH-2~12BH :
5 5 | B[ 7499 12.4[14.9(17.4|19.9/22.4|24.9(27.4 129.9 |32.4 | L Lol L Gxsens-2~tom) ﬁ&%a& PAGS
A 2550 7.5[10.0[12.5|15.0(17.5 [20.0 |22.5 |25.0 |27.5| [& 3 [ekn [sas m“}a wE (% ¥ [nn | P |44 FR (D0, 63417)
I 3 _ o 1: 1
B . (S E x > =
FLdc| 2 3 4 5 6 7 8 9 10 11 | 12 MM wwuﬂmmﬁ; £ 1 % | # 1 7 AL Eal FRAF




